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Objective 1: Solving Equations & Inequalities

Solve for the variable, show all work. (NO DECIMAL ANSWERS)

1 6x—2=5x—7—3x 2, 3(8x —5) = —4(7 — 6x)

g 3(x—IS)+8x= 18 — (3 — 10x) | 4, 3(8x—5)+3=22x+2(x—6)
5. 5x —7=3x 2 6. 4% —15 = 6x + 5 — 2x

7 %+§=§ 8. —8x—3x—6)=4—x

9, —5x+4(x+5)=x+ 20 10. §(ﬁc+5):—7



L
Solve and graph on a number line

(8 2x+4(x—-2) >4 12;

&
v

13 —4x+6 < 22 14.
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Objective 2: Polynomials

Simplify:
15,  7x*+4x—3)— (—5x°*—3x+2) 16.
17.  (4x+5)(5x + 4) 18.

19. (5x%—4) — 2(3x* + 8x + 4) 20.

4—(2x—4)=5— (4x +3)
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—7<2x—3

A
v

(n? +5n+3) + (2n? + 8n + 8)

— 2 (5x+11)

(5x — 6)2



21 i
24, (x5’
Factor:

Factor out the GCF
27, 6x% 4+ 21x

Difference of Squares
29. «x*-16

Factor trinomials
32. x%—2x — 63

35. x? —8x + 16

Evaluate

38. Find P(5) given P(x) = 4x% — 1

22.

25,

30.

33

36.

nen x_
nen? 23 %5
n3
e 26. 2a)’(b™)
28.  5x%y® —15xy + 20xy*
4x? — 1 31, 100x% — 81
x4+ 10x + 16 34, 2x% —13x + 15
x* +19x — 20 37. x> +5x+6

39. Find Q(-2) given Q(x) = —2x2 +x%-6



Objective 3: Linear Equations

Find the slope of the line passing through the following points:

40, (9,6) (1,4) 41, (5,—12) (15,-2) 42, (3,0) (3,5)
43, (=3,-5) (-2,-7) 44, (4,5) (—1,5)

45, Paraliel lines have slopes.

46, Perpendicular lines have slopes.

47, Horizontal lines have a slope of

48. Vertical lines have a slope of

Using the slope and y-intercept, sketch a graph of each line. (y=mx+b) m=slope, b=y-intercept
49,  y=2x-1 S0.- y=—%43

Slope , y-int Slope y-int
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Change the following to slope-intercept form, then sketch the graph.

51. 3x —4y =12 52. Ix+6y=12
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Write an equation, in slope-intercept form, using the given information.

53. m =% y-intercept (0,3) 54. m=-3, (2,4)

Objective 4: Solving Systems of Equations. Use Substitution Method or Elimination Method.

55. 2x+y=—6 56. 7y +15 = 3x
Bx-l-y:—l[} 15 =3x + 2y
5. y=5—4x 58. 3x+2y=28

3x —2y =12 x =3y+10



ABSOLUTELY NO CALCULATORS ON THIS PAGE!

Objective 5: Basic Math skills (Fractions & Order of Operations)

Simplify: SHOW ALL WORK!

5, 6+2x8-12+9+3 60. 25— (2°45x2-3)
—2¢—30+4+0.5=20 15—[8—(2+5)]
61. 62. —==—
42—6 18-5¢
g2 Cl 64 31
5 3 5
65. 5x3- BBl s
2 8 4



Simplify each expression

401{7j
72p°

1)

Simplify each expression.

a-7 a-—1

3) .
21—-3a 8a

v+ 14y +45  v* + 14y +45
) =
v+ 3 v+ 10

-~ 3n 6
7) +
n+1 n+3
9) 2x _S-
=% =8 4

Name

4x* = 24x+20
2x0° — 12x% + 10x

97 -9 6
6 n—1

15x* +30x _ 5x

2700 +54x% 3

3x—1 4
6x° + 9x 3x

6m m—1

10 +
: Sm>  m’-5m+6



olve each equation. Remember to check for extraneous solutions.

1 1 1 1 m—=©6
) —=— +— 12) — + =il
) 20 2b  b* ) m  2m
= 1 2 1 1 5 )
2) =7 Y 14) = ——
a"+9%+18 a " +%+18 a+6 2p=10 2 p-3
implify each expression.
5 x
m—2 9
5 by —
) m’ 1
5 X
16 m+ 3 x—3¢x—5
7 m* m 18) =5 5
4 25
x—35
implify.

9) \28ab’ : 20) \48x°y?

1y V81 22) /32



Write each expression in radical form.

2 3
23)- (3m)° 24) b*

Write each expression in exponential form.

25) 6m 26) 10x

Simplify.
3 2
79 ') 28) (a°) °
- r 2’y
29) (125v%)° A e
2u -(u“v )
4 -3 4)2 I 142
2y N
i) e 2 (r’}z-ry 2)
2x7 ! 32) ;
5
X
33) —3v15(v/6 + /5) 34) (3—4~/2)3-24/2)
35) 3v/3 —3/5 + 345 36) —\/20 — V45 + 2+/5
37) 38) et
Y ail3 s e



olve each equation. Remember to check for extraneous solutions.

el
9) V3x—8 =4
1) k=V2-k

ey
3y n+3=~N6n+25

olve each equation by completing the square.

5) 4y% —16v—51=-10

7) n? =2n—109=~-10

40) V35-2x =5

4] ~18—- Gl -t

44) 4=—a +6a+15

46) 5x* —20x—62=-2

48) a* —16a + 50 =-5



Solve each equation by factoring.

49) x>*=-9x-20 50) x*—12=4x

51) Tn* +18n+8=0 52) 5k +6k+1=0

Solve each equation by taking square roots.

53) —5x> =80 54) 6p* =180

55) Sn*=-200 56) m*+3=67

Solve each equation with the quadratic formula.

57) 55 +7x+3=0 58) 3x°—8x—-16=0

59) 124*—8a=-11 60) n*+6n=13



‘ind the discriminant of each quadratic equation then state the number and type of solutions.

1) —8v* +6v=0 62) —2x* —5x+3=0

ketch the graph of each function.
3) y=x>+4x+3 64) y=x>—2x-2
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Evaluate each expression.

67) log, 3 68) log, 64
69) 1 1 70) log, 4
O 2
©2 64
1 72) log, 216
71) log , — &
w6
Condense each expression to a single logarithm.
73) 4In 8+ 121n 7 74) 8log, u—4log, v
75) 16lna+4In b 76) 8log 6 —4log 7
Expand each logarithm.
X . 78) 10g6\3fu-v-w
) log, (-—w)
"_.'

e

80) log r—}



solve each equation.

31) In (21 +8)=1n (~4n —4) 82) log,, (3r—3)=log , (2r+5)

3) log, (x*+3) - log 3=log, 49 84) log, 5x* —log, 5=5
5) log, 4x* - log, 2=log, 2 86) log, 3— log, Sx=1

olve each equation by changing the base.

243

9

7 64—.\':322_\'-\'-3 1 2v—=2 1
) gy

;'l 64._3” = 16—3“ 1 —3{? ] 2
) 90) 2437 = (5)



